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Table168__ DMT RunningSums

Table168__DMT Running Sums: Divisor (Factor) Matrix Table #1
EVENSs-
NOT EVENS
A4 N62 A12 A254 1 A1022  A204 A4094 1 A1 2
2 4 8 16 32 64 512 1024 2048 4096
6 (::) 12 (:::y4 (:::ye (::)96

o
2]
o
ey
(2]
o

22 44 88 176 352
26 52 104 208 416

DO On
D O0E
L O
BEEEads

O
O
O

0 0O

34 68 136 272 544
38 76 152 304 608
42 84 168 336 672
46 92 184 368 736
50 100 200 400 800
54 108 216 432 864
58 116 232 464 928

OO =0 O O O O OO O

264 528 1056
70 140 280 560 i120

> @Col.STEPS=[EVENs-NOT(BLACK) + > EVENs (WHITE)] - Col. Header (WHITE)
The sum of a number taken from the EVENs-NOT Column (BLACK) + a > number (WHITE) in any of the EVENS
Columns multiplied by the 3> number (WHITE) at the TOP Header of said EVENS gives a 3 product found at
double the # of said Columns.

Examples:

(2+7)7=63 =3 @ double the Columns, i.e. 7 is from Col3, so 2x3=6 and > 63 is found at the 6th Column over.
(2+15)15=255 = @ double the Columns, 15 is from Col4, so 2x4=8 and > 255 is found at the 8th Col. over.
(2+31)31=1023=3 @ double the Columns, 31 is from Col5, so 2x5=10 and > 1023 is found at the 10th Col. over.

(14+49)7=441=3 @ double the Columns, 7 is from Col3, so 2x3=6and > 441 is found at the 6th Col. over.

If one simply reverses the Cols with the Rows, the same } is found @ the same initial # of Columns. Example:
14+49=63 and 637 @ Col3 gives 441 @ Col6, and, if you switch the Col and Row, @ Row 63, under Col3=441.

All of this works_only when the sum of an EVENs-NOT + > from the EVENs Column is multiplied by the header .
It works for any such Row — “non-container” and “container” alike — including the Mp-PN pairings.
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(126+441)7=3969 @ 2-3=6 Column STEPS
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